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fruit syrup 15 = 1.4 (= 21) or water 280 x 0.9 (= 277.2) or

apple juice 25 1.0 (=26.25)

(dep P1) for complete process to find the total mass

g “2772"+"2625" + “21” (=324.45) or a weighted density

eg 15 % 1.4+ 320 (= 0.065625) or 280 * 0.99 = 320 (= 0.86625) or

25 1.05 + 320 (= 0.08203125)

(dep P2) for complete process to find the density eg “324.45” + 320 (=1.01.) or
“0.065625” + 0.86625” + “0.08203125” (= 1.0139.)
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C1

start process eg method to find area of trapezium
complete process to find volume of tank

process to find time eg volume x 1000 = 300
process to find 85% of volume or of time

for 36.4 or 36 mins 24 secs

explanation eg if the average rate was slower it
would take more time, if the average rate was
faster it would take less time
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begins process eg 150+19.3 (=7.77..) or 150+8.9
(=16.85.)

complete process to find total volume

complete process to find the density of the alloy
for answer in range 12.1 to 12.2
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PI for a first step {0 solve the problem cg method to find the slant height of the cone or the volume
equals 7687x*

P1 for setting up an equation for the curved surface area in terms of x eg 21607 = 7 X 12x X 20x
P1 for complete method to find the value of x

P1 for a method to find the volume or value of I’

Al cao
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MI for a complete method to find the area of the cross section,
g 15x 2+ "(12-4)" x 2+ 15 x 2 (= 76) or for finding the volume of a relevant
prism, cg. 15 % 2 x 120 (= 3600)

(12~ 4)" maybe just seen on the diagram

MI for a method to find the volume of the bar,

eg."76" x 120 (=9120) or ft “area of cross section”*120 provided

“area of cross section” includes a method to find the area of at least two relevant
rectangles

MI for “volume” x 8, eg. “9120” x § (= 72960) or 250 x 1000 + § (= 31250)
NB “volume” must be dimensionally correct

MI (dep on previous M1) for 250 = (“volume” x 8) + 1000, eg. 250 + 72960
1000” (= 3.4265....) or "31250" = "9120"

Al for an answer of 3 with correct working
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ML for ¥%m?x10 (=2701)
Alforr=9

M1 (dep on M1) for %x ;ﬂx"Q"‘ (=486m)

MI for 2707 + “4867" oe
Al cao
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_2e8
Density of C =320

0957

MI for finding the volume of cither Tiquid A or B or the mass of
liquid C

MI for a complete method to find the volume AND mass of liquid C
MI (dep M2) for “total mass™ + * total volume™

Al for 0957 t0 0.96
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Al for (r=) 4
MI for 25
MI for 327 +
Al cao

10 (=80) oF 7x"4" (=167) or f their
‘807" + "167" o€ or 402.1 ~402.3 o ft their r
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Al

for vol A = 1400 + 70 (=20) or for mass B = 280 x 30 (=8400)

1400 + "8400
"20"+30

9800 o1 answer with digits 196

for density C
v 50

cao

An answer of 350 from 70 + 280 gets
no marks
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Al

for method to use a volume formula with correct substitution for the
cone, sphere or hemisphere

[P P S

for complete method to find total volume
alirseioe 2oy

(dep first M1) for correct partial simplification, eg 307 or 187
cao

SC B2 for answer of 264 or 2647

May work without 7 or with an approximation of
; must use the correct radius of 3 (and 10) in
substitution

Must be cone or hemisphere

Accept 487
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13 101 Pl | for 1.09 % 60 (= 65.4 or 227) or 0.97 128 (= 124.16 or 2.2 Note that the volumes may be converted to ml,
s = g 1,09 x 60000 (= 65400)
Pl for 109 % 60 (= 65.4 or 27) and 0.97 x 128 (= 124.16 or 2%
or 6547+ *124.16” (= 189.56 or 22%)
Pl | fora complete process to find the density of aniifreeze Candidates working in ml must use 188,000
g (“65.4” + “124.16”) + 188 or 189.56 + 188 m% 188
Al | for answer in the range 1.00 to 1.01

If an answer within the range is seen in working
but then rounded incorrectly award full marks.
Accept 1 for 1.00

Note that the correct value is 1.008.
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‘works to find vol of frustum eg 1/37(3.6)x6.4 — 13x(1.8)"x32
or 86.858.. — 10.857.... (=24.192x 0r 76.00.)

‘works to find vol of hemisphere eg %x %1 x3.6

mass of frustum as [vol]xdensity eg “76.00” x 2.4 (=182.4..)
or mass of hemisphere as [vol]density eg “97.7..."4.8 (=469.037...)

mean density s total mass + total volume
g (“182.4.7 + *469.037%) + (“76...” + 97
orv651.4.7% = *173.7...7

answer in the range 3.7 t0 3.8

11047 0r 97.7...)

781.7.... by use of diameter does not get the mark

[vol] is their volume which could be ft using the
radius, using the diameter, or could be another
value as long as it is stated as being the volume,
or clearly intended from working.

All figures must come from correct method
shown.
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for correct use of formula for the volume of a sphere.
eg}xdxxxr (=5T6nor 1809..)
OR 5767 * 4 or 23047 or 7238. (:;”xr')

for a complete correct process to find r,

egr or r=12

0

for a process to find the curved surface arca

eg DI (<y4qz 00452, )

OR the surface arca of both lat surfaces
nxlradtus]?,

eg2x———)

OR complete expression for the total surface area

for process to find the complete surface area
4xnxfradius? xxiradius]®
egrmlradiel (o, mxlradiuely

answer in the range 904.7 - 905 or 288

(SCB2 for an answer in the range 358.1 - 359.2)

'We do not need to see what is in the
brackets to award this mark.

‘The contents of the bracket alone would
score PO

Could be shown in several stages

Radius used must be clearly identified as
their radius of the solid

Ifan answer is given in the range but
then incorrectly rounded, award full
marks.





